

Alachua County, Florida

Procurement

Theodore "TJ" White, Jr. CPPB, Procurement Manager County Administration Building, Gainesville, FL 32601 (352) 374-5202

EXECUTIVE SUMMARY

ITB No. ITB 23-947

<u>CR 325 over Cross Creek and CR 241 over Santa Fe River-Bridge Rehabilitation</u> - Project # 919-7903-FY19-260027 & 919-7903-FY19-260086

RESPONSE DEADLINE: April 12, 2023 at 2:00 pm

Tuesday, May 30, 2023

SOLICITATION OVERVIEW

Project Title	CR 325 over Cross Creek and CR 241 over Santa Fe River-Bridge Rehabilitation - Project # 919-7903-FY19-260027 & 919-7903-FY19-260086
Project ID	ITB 23-947
Project Type	Invitation To Bid
Release Date	March 1, 2023
Due Date	April 12, 2023
Procurement Agent	Theodore White
Project Description	Repair and Rehabilitation of Bridge No. 260027-CR 325 over Cross Creek and Bridge No. 260086- CR241 over Santa Fe River. The results of this ITB will end with 2 Agreement.

INTRODUCTION

Summary

Alachua County Board of County Commissioners are calling for and requesting the submission of ITB 23-947 CR 325 over Cross Creek and CR 241 over Santa Fe River-Bridge Rehabilitation - Project # 919-7903-FY19-260027 & 919-7903-FY19-260086.

The herein included sections along with <u>Advertisement for Bids</u>, <u>Instruction to Bidders</u>, <u>Terms and Conditions</u>, <u>Insurance</u>, <u>Scope of Work</u> and the <u>Submittals</u>; together with all attached <u>Attachments</u> herein identified, constitute the entire bid package. Specifications and supplementary documents are essential parts of the ITB and requirements occurring in one are as binding as though occurring in all.

ITB No. ITB 23-947

CR 325 over Cross Creek and CR 241 over Santa Fe River-Bridge Rehabilitation - Project # 919-7903-FY19-260027 & 919-7903-FY19-260086

This ITB is for CR 325 over Cross Creek and CR 241 over Santa Fe River-Bridge Rehabilitation - Project # 919-7903-FY19-260027 & 919-7903-FY19-260086.

Repair and Rehabilitation of Bridge No. 260027-CR 325 over Cross Creek and Bridge No. 260086- CR241 over Santa Fe River. The results of this ITB will end with 2 Agreement.

Background

Location: Alachua County is located in North Central Florida. The County government seat is situated in Gainesville. Gainesville is located 70 miles southwest of Jacksonville, 129 miles southeast of Tallahassee, 140 miles northeast of Tampa - St. Petersburg and 109 miles northwest of Orlando. Alachua County has a population of over 250,000 and a regional airport. The County itself consists of a total area of 969 square miles.

Form of Government: Alachua County is governed by a Board of five (5) elected County Commissioners and operates under the established County Manager Charter form of government. In addition to the five County Commissioners, there are five elected Constitutional Officers: Supervisor of Elections, Sheriff, Clerk of the Court, Tax Collector, and the Property Appraiser. The Alachua County Attorney also reports to the Board.

Contact Information

Theodore White

Procurement Agent II, CPPB Email: twhite@alachuacounty.us

Phone: (352) 384-3091

Department: Public Works

Timeline

OpenGov/Procurenow Project Release Date	March 1, 2023
2nd Advertisement Date	March 8, 2023
Question Submission Deadline	April 2, 2023, 12:01am
ITB Submission Deadline	April 12, 2023, 2:00pm

Solicitation Opening – Zoom Meeting

April 12, 2023, 2:00pm

The scheduled solicitation opening will occur via Zoom; the information to join is provided below. Attendance (live viewing) of the bid opening is not required.

Join Zoom Meeting https://zoom.us/j/93437702771?pwd=S2QxMV pUTG5xQUtBTEVMbkRxakNEZz09

Meeting ID: 934 3770 2771

Passcode: 702897 One tap mobile

+13126266799,,93437702771# US (Chicago) +19292056099,,93437702771# US (New York)

Dial by your location

+1 312 626 6799 US (Chicago)

+1 929 205 6099 US (New York)

+1 301 715 8592 US (Germantown)

+1 346 248 7799 US (Houston)

+1 669 900 6833 US (San Jose)

+1 253 215 8782 US (Tacoma)

Meeting ID: 934 3770 2771

Find your local number:

https://zoom.us/u/adtsfJybhW

If you have a disability and need an accommodation in order to participate in a County program, service or public meeting, please contact the Alachua County ADA Coordinator at ADA@alachuacounty.us or Equal Opportunity Office at 352-374-5275 at least 7 business days prior to the event. TDD/TTY users, please call 711 (Florida Relay Service)

SOLICITATION STATUS HISTORY

Date	Changed To	Changed By
Jan 22, 2023 10:58 PM	Draft	Theodore White
Feb 15, 2023 8:44 AM	Review	Theodore White
Feb 28, 2023 11:10 AM	Final	Theodore White
Feb 28, 2023 11:10 AM	Post Pending	Theodore White
Mar 1, 2023 10:00 AM	Open	OpenGov Bot
Apr 12, 2023 2:00 PM	Pending	OpenGov Bot
Apr 12, 2023 2:39 PM	Evaluation	Mandy Mullins
May 9, 2023 11:07 AM	Award Pending	Mandy Mullins

SELECTED VENDOR

VENDOR RECOMMENDED BY THE EVALUATION PROCESS

Vendor	Location
E&D CONTRACTING SERVICES, INC	Savannah, GA

PROPOSALS RECEIVED

Status	Vendor	Contact Info	Submission Date
Submitted	E&D CONTRACTING SERVICES, INC	MIKE SHEPARD mshepard@edcompanies.com	Apr 12, 2023 1:58 PM
No Bid	LED AMP ENERGY CORP	Anthony Posada tony@ledampenergy.net (305) 316-4690	Mar 1, 2023 1:08 PM
Submitted	M&J Construction Company of Pinellas County, Inc.	Josh Horelle receptionist@mjconstruction.net (727) 938-6478	Apr 12, 2023 1:51 PM
No Bid	Network Craze	Michael Featherstone mfeatherstone@networkcraze.com	Mar 1, 2023 10:01 AM
Submitted	Titan Construction Management LLC	Irene Tirikos itirikos@titancivilconstruction.com (727) 330-2729	Apr 12, 2023 1:37 PM

VENDOR QUESTIONNAIRE PASS/FAIL

Question Title	E&D CONTRACTING SERVICES, INC	LED AMP ENERGY CORP	M&J Construction Company of Pinellas County, Inc.	Network Craze	Titan Construction Management LLC
Submittal Conformation	Pass	No Response	Pass	No Response	Pass
Corporate Resolution Granting Signing	Pass	No Response	Pass	No Response	Pass
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	Pass	No Response	Pass	No Response	Pass
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	Pass	No Response	Pass	No Response	Pass
Public Record Trade Secret or Proprietary Confidential Business Information Exemption Request	Fail	No Response	No Response	No Response	No Response
Option 1: Company is an Alachua County Certified Small Business Enterprise.	Pass	No Response	Pass	No Response	Pass
Option 2: I certify that our Company will perform ALL work and that no subcontractors will be utilized for this bid.	Pass	No Response	Pass	No Response	Fail
Option 3: SBE Participtation.	Pass	No Response	Pass	No Response	Fail
Option 4: SBE Good Faith Effort.	Pass	No Response	Pass	No Response	Fail
Alachua County Government Minimum Wage	Pass	No Response	Pass	No Response	Pass
Drug Free Workplace	Pass	No Response	Pass	No Response	Pass
State Compliance	Pass	No Response	Pass	No Response	Pass
Vendor Eligibility	Pass	No Response	Pass	No Response	Pass
Non-SBE Subcontractors	Pass	No Response	Pass	No Response	Pass
Conflict of Interest	Pass	No Response	Pass	No Response	Pass
Form of Bid Bond	Pass	No Response	Pass	No Response	Pass
Do you acknowledge all Addendum(s) issued with this solicitation?	Pass	No Response	Pass	No Response	Pass
Responsible Agent	Pass	No Response	Pass	No Response	Pass

Question Title	E&D CONTRACTING SERVICES, INC	LED AMP ENERGY CORP	M&J Construction Company of Pinellas County, Inc.	Network Craze	Titan Construction Management LLC
Number of years in this type of service?	Pass	No Response	Pass	No Response	Pass
Number of years licensed in Alachua County?	Pass	No Response	Pass	No Response	Pass
How many employees "ON THE JOB" each week?	Pass	No Response	Pass	No Response	Pass
Number of employees "ON CALL" each week?	Pass	No Response	Pass	No Response	Pass
List all major equipment which will be available upon commencement of the agreement to perform the required service:	Pass	No Response	Pass	No Response	Pass
Do you currently hold any municipality contracts?	Pass	No Response	Pass	No Response	
If you indicated yes to holding municipality contracts please list them below:	Pass	No Response	Pass	No Response	
List three references of firms receiving similar service to that requested in this bid (comparable facility size):	Pass	No Response	Pass	No Response	
Are your employees screened by:	Pass	No Response	Pass	No Response	
Have any leases, contracts or agreements for services held by your firm ever been canceled or terminated before the end of the term by either party?	Pass	No Response	Pass	No Response	
If you indicated yes to having any contracts or agreements canceled or terminated state the location and circumstances below:	Pass	No Response	Pass	No Response	No Response

Question Title	E&D CONTRACTING SERVICES, INC	LED AMP ENERGY CORP	M&J Construction Company of Pinellas County, Inc.	Network Craze	Titan Construction Management LLC
What constitutes your normal business days and working hours?	Pass	No Response	Pass	No Response	
Describe below, your firm's operational plan for providing the services under this agreement?	Pass	No Response	Pass	No Response	
Did you review and complete all the required documents and attachments?	Pass	No Response	Pass	No Response	

QUESTIONS AND ANSWERS

Approved, Unanswered Questions

Approved, Answers Provided

1. CR 325 over Cross Creek and CR 241 over Santa Fe River-Bridge Rehabilitation - 6168087

Mar 2, 2023 12:01 PM

Question: What is the construction cost/estimated budget for the above project? Thank you.

Mar 2, 2023 12:01 PM

Answered by Mandy Mullins: \$871,000.00

Mar 14, 2023 11:38 PM

2. No subject

Mar 23, 2023 1:10 PM

Question: After speaking with the supplier specified in the plans for the LVL, they do not make it in 3.5" anymore. It comes in 1-3/4" and can be screwed together in the field to make a 3.5". Please clarify

Mar 23, 2023 1:10 PM

Answered by James Link: That would be an acceptable alternative.

Mar 28, 2023 9:52 AM

ITB No. ITB 23-947

CR 325 over Cross Creek and CR 241 over Santa Fe River-Bridge Rehabilitation - Project # 919-7903-FY19-260027 & 919-7903-FY19-260086

3. Coating

Mar 29, 2023 4:04 PM

Question: Our estimating team has asked specifically that when this bid was re-issued, no steel coating was on this project? Is this correct?

Mar 29. 2023 4:04 PM

Answered by James Link: Correct, coating of structural steel is not included in the projects.

Mar 30, 2023 9:24 AM

ADDENDA & NOTICES

ADDENDA ISSUED:

Addendum #1

Mar 29, 2023 4:03 PM

Alachua County is extending this ITB one week.

Please use the See What Changed link to view all the changes made by this addendum.

ADDENDA ACKNOWLEDGEMENTS:

Addendum #1

Proposal	Confirmed	Confirmed At	Confirmed By
Titan Construction Management LLC	Χ	Apr 6, 2023 12:27 PM	Irene Tirikos
M&J Construction Company of Pinellas County, Inc.	X	Apr 12, 2023 9:50 AM	Josh Horelle
E&D CONTRACTING SERVICES, INC	Х	Apr 12, 2023 12:30 PM	MIKE SHEPARD

NOTICES ISSUED:

Notice #1

May 9, 2023 11:06 AM

RECOMMENDATION:

It is our recommendation that the bid be awarded to the lowest responsible and responsive bidder, E&D Contracting Services, Inc., in the amount of \$1,160,220.00. The Department recommends an initial contract price in the amount of this bid price a 5% contingency in the amount of \$58,011.00.

The totals for each award will be:

ITB No. ITB 23-947

CR 325 over Cross Creek and CR 241 over Santa Fe River-Bridge Rehabilitation - Project # 919-7903-FY19-260027 & 919-7903-FY19-260086

Award Project No. 919-7903- FY19-260086- CR241 over Santa Fe River in the initial contract amount of \$685,450.00 and a 5% contingency of \$34,272.50

Award Project No 919-7903-FY19 -260027- CR 325 over Cross Creek in the initial contract amount of \$474,770.00 and a 5% contingency of \$23,738.50

EVALUATION

SELECTED VENDOR TOTALS

Vendor	Total
E&D CONTRACTING SERVICES, INC	\$1,160,220.00
Titan Construction Management LLC	\$1,202,851.49
M&J Construction Company of Pinellas County, Inc.	\$1,272,472.00

PROJECT NO. 919-7903- FY19-260086- CR241 OVER SANTA FE RIVER

Project No	Project No. 919-7903- FY19-260086- CR241 over Santa Fe River		E&D CONTRACTING SERVICES, INC		M&J Construction Company of Pinellas County, Inc.		Titan Construction Management LLC			
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	1	MOBILIZATION	1	LS	\$22,000.00	\$22,000.00	\$48,000.00	\$48,000.00	\$35,628.02	\$35,628.02
X	2	MAINTENANCE OF TRAFFIC	1	LS	\$50,000.00	\$50,000.00	\$44,000.00	\$44,000.00	\$27,000.00	\$27,000.00
X	3	PREVENTION, CONTROL & ABATEMENT OF EROSION & WATER POLLISION	1	LS	\$22,000.00	\$22,000.00	\$4,000.00	\$4,000.00	\$15,000.00	\$15,000.00
Х	4	SEDIMENT BARRIER	400	LF	\$10.00	\$4,000.00	\$8.00	\$3,200.00	\$40.00	\$16,000.00
Х	5	FLOATING TURBIDITY BARRIER	600	LF	\$25.00	\$15,000.00	\$15.00	\$9,000.00	\$50.00	\$30,000.00
X	6	STAKED TURBIDITY BARRIER	1500	LF	\$15.00	\$22,500.00	\$10.00	\$15,000.00	\$30.00	\$45,000.00

Project No. 919-7903- FY19-260086- CR241 over Santa Fe River		E&D CONTRACTING SERVICES, INC		M&J Construction Company of Pinellas County, Inc.		Titan Construction Management LLC				
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	7	CLEARING & GRUBBING	1	LS	\$40,000.00	\$40,000.00	\$42,952.00	\$42,952.00	\$58,000.00	\$58,000.00
X	8	SELECTIVE CLEARING & GRUBBING	0.2	AC	\$13,000.00	\$2,600.00	\$145,175.00	\$29,035.00	\$127,500.00	\$25,500.00
Х	9	MOWING	2	AC	\$4,000.00	\$8,000.00	\$7,000.00	\$14,000.00	\$4,000.00	\$8,000.00
X	10	PILE JACKET REPAIR	150	LF	\$1,000.00	\$150,000.00	\$900.00	\$135,000.00	\$768.00	\$115,200.00
X	11	BRIDGE BEARING REPAIR	1	EA	\$16,600.00	\$16,600.00	\$5,000.00	\$5,000.00	\$9,700.00	\$9,700.00
X	12	REMOVAL OF EXISTING BRIDGE JOINT	275	LF	\$39.00	\$10,725.00	\$25.00	\$6,875.00	\$45.00	\$12,375.00
X	13	CLASS IV CONCRETE- SUBSTRUCTURE	5	CY	\$4,500.00	\$22,500.00	\$7,000.00	\$35,000.00	\$4,833.00	\$24,165.00
X	14	CLEANING AND COATING CONCRETE SURFACE, CLASS V	8000	SF	\$3.50	\$28,000.00	\$5.00	\$40,000.00	\$4.78	\$38,240.00
X	15	CLEANING CONCRETE SURFACE	9000	SF	\$2.00	\$18,000.00	\$3.00	\$27,000.00	\$3.00	\$27,000.00
X	16	RESTORE SPALLED AREAS (EPOXY)	40	CF	\$535.00	\$21,400.00	\$1,200.00	\$48,000.00	\$692.86	\$27,714.40
X	17	CRACKS INJECT & SEAL- STRUCTURES REHAB	200	LF	\$1.00	\$200.00	\$80.00	\$16,000.00	\$80.00	\$16,000.00
X	18	PENETRANT SEALER- CRACK REPAIR	5	GA	\$250.00	\$1,250.00	\$240.00	\$1,200.00	\$1,400.00	\$7,000.00

Project No. 919-7903- FY19-260086- CR241 over Santa Fe River					E&D CONTRACTING SERVICES, INC		M&J Construction Company of Pinellas County, Inc.		Titan Construction Management LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	19	BRIDGE DECK EXPANSION JOINT (REHAB- REPLACE) (POURED JOINT WITH BACKER ROD)	275	LF	\$49.00	\$13,475.00	\$35.00	\$9,625.00	\$92.64	\$25,476.00
X	20	RIPRAP- PREFORMED REVETMENT MAT	600	SY	\$237.00	\$142,200.00	\$580.80	\$348,480.00	\$258.65	\$155,190.00
X	21	PERFORMANCE TURF (SOD)	5000	SY	\$15.00	\$75,000.00	\$4.80	\$24,000.00	\$6.00	\$30,000.00
Total	Total					\$685,450.00		\$905,367.00		\$748,188.42

PROJECT NO 919-7903-FY19 -260027- CR 325 OVER CROSS CREEK

Project No 919-7903-FY19 -260027- CR 325 over Cross Creek					E&D CONTRACTING SERVICES, INC		M&J Construction Company of Pinellas County, Inc.		Titan Construction Management LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	22	MOBILIZATION	1	LS	\$22,000.00	\$22,000.00	\$35,000.00	\$35,000.00	\$21,650.62	\$21,650.62
X	23	MAINTENANCE OF TRAFFIC	1	LS	\$45,000.00	\$45,000.00	\$44,000.00	\$44,000.00	\$27,000.00	\$27,000.00
X	24	PREVENTION, CONTROL & ABATEMENT OF EROSION & WATER POLLUTION	1	LS	\$15,000.00	\$15,000.00	\$4,000.00	\$4,000.00	\$15,000.00	\$15,000.00
Х	25	SEDIMENT BARRIER	600	LF	\$10.00	\$6,000.00	\$8.00	\$4,800.00	\$50.00	\$30,000.00
X	26	FLOATING TURBIDITY BARRIER	500	LF	\$25.00	\$12,500.00	\$15.00	\$7,500.00	\$50.00	\$25,000.00
X	27	STAKED TURBIDITY BARRIER	300	LF	\$15.00	\$4,500.00	\$10.00	\$3,000.00	\$60.00	\$18,000.00

Project No 919-7903-FY19 -260027- CR 3		325 over Cross Creek		E&D CONTRACTING SERVICES, INC		M&J Construction Company of Pinellas County, Inc.		Titan Construction Management LLC		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	28	CLEARING & GRUBBING	1	LS	\$46,800.00	\$46,800.00	\$20,000.00	\$20,000.00	\$19,000.00	\$19,000.00
X	29	SELECTIVE CLEARING & GRUBBING	1	LS	\$40,500.00	\$40,500.00	\$27,035.00	\$27,035.00	\$15,000.00	\$15,000.00
Х	30	MOWING	0.5	AC	\$18,000.00	\$9,000.00	\$12,000.00	\$6,000.00	\$6,000.00	\$3,000.00
Х	31	TIMBER CAP REPAIR-SCAB	40	LF	\$1,133.00	\$45,320.00	\$600.00	\$24,000.00	\$276.41	\$11,056.40
Х	32	TIMBER CAP REPAIR- WRAP	25	SF	\$1,040.00	\$26,000.00	\$300.00	\$7,500.00	\$493.44	\$12,336.00
X	33	TIMBER CAP REPAIR	40	SF	\$500.00	\$20,000.00	\$600.00	\$24,000.00	\$1,485.79	\$59,431.60
X	34	REMOVAL OF EXISTING BRIDGE JOINT	150	LF	\$48.00	\$7,200.00	\$25.00	\$3,750.00	\$45.00	\$6,750.00
X	35	CLEANING AND COATING OF CONCRETE SURFACE, CLASS V	2750	SF	\$4.00	\$11,000.00	\$5.00	\$13,750.00	\$4.78	\$13,145.00
X	36	CLEANING OF CONCRETE SURFACE	2500	SF	\$3.50	\$8,750.00	\$3.00	\$7,500.00	\$5.83	\$14,575.00
X	37	RESTORE SPALLED AREAS (EPOXY)	15	CF	\$2,800.00	\$42,000.00	\$1,200.00	\$18,000.00	\$1,183.33	\$17,749.95
X	38	CRACKS INJECT & SEAL - STRUCTURES REHAB	150	LF	\$155.00	\$23,250.00	\$80.00	\$12,000.00	\$80.00	\$12,000.00
X	39	PENETRATE SEALER- CRACK REPAIR	5	GA	\$500.00	\$2,500.00	\$240.00	\$1,200.00	\$2,800.00	\$14,000.00
X	40	BRIDGE DECK EXPANSION JOINT (REHAB- REPLACED) (POURED JOINT WITH BACKER ROD)	150	LF	\$100.00	\$15,000.00	\$35.00	\$5,250.00	\$92.36	\$13,854.00

Project No 919-7903-FY19 -260027- CR 325 over Cross Creek					E&D CONTRACTING SERVICES, INC		M&J Construction Company of Pinellas County, Inc.		Titan Construction Management LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	41	RIPRAP- PREFORMED REVETMENT MAT	150	SY	\$333.00	\$49,950.00	\$610.80	\$91,620.00	\$647.43	\$97,114.50
Х	42	PERFORMANCE TURF (SOD)	1500	SY	\$15.00	\$22,500.00	\$4.80	\$7,200.00	\$6.00	\$9,000.00
Total						\$474,770.00		\$367,105.00		\$454,663.07